$£40 LYORIIN—TiEERHEE

BALS>F>2D

2 5m BHR
E 2 B ¥ T ¥
B4z K 4 P& | HSA4L | e Fr B K 4 & | 14 | e R B
1| =1 BE= | /'L | 18.61 | Aa% | PIXY | 1| =@ =@ | %% | 23.50 Zon
2| Bma =% | 1 | 22.43 28 | 2| HE =5 | M | 26.72 28,
3| BEE W | WB | 23.90 PIXY
4| %K Bt | N1 | 25.86 BT
yis 5 B R N1 | 25.97 Ul
6 RE R M| 29.21 28,
7 | N @& | A | 31.73 28,
8| =& BA | 1 | 33.29 28,
9| &= Bm | WB | 39.66 PIXY
1 [EEET N2 | 22.11 | A2% | U1
2| =F g | )2 | 22.93 Ul
N2 3 e = 2 | 24.26 28,
4| =m =X | /2 | 25.05 28,
5| =g BE | /2 | 28.33 28,
6| J/\& O | /2 | 30.55 28,
1 BK = N3 | 19.24 | A=% | U1
M3 |2 @@ &/ | 13 | 20.53 =T
3| kE k&% | /N3 | 26.56 230N
5 0m BHH
E 2 g F T 7
T K& ¥ E&E | HAL | Hiosm | B |IE K& R E | HA1L | Hiim | B
1 | &&m LE | /2 | 38.20 PIXY | 1| &lE OW5 | 12 | 46.76 Z B,
m2 |2 Bl IR N2 | 42.28 28 | 2| FE =5 | 02 | 47.92 28,
3| @ ®A | /2 | 5547 228,
1| ZE =& | '3 | 39.10 U1 1 | 1RE BRI | /N3 | 35.27 Z8Eh,
2 = AN N3 51.51 28 | 2| NEFEFE KW | /N3 41.27 ZE
n3 |3 ®F RH | 13 | 5345 PIXY | 3| &@~%& #ic | /3 | 48.35 PIXY
4| FH Mt | /3 | 55.09 28 | 4 | M8 \W5hH | 3 | 51.09 28,
5 I B /N3 | 55.24 28,
6 | HE =& | /3 | 58.18 28,
1 miE B NS | 30.44 | A2% | BT | 1| BE Pk | /M | 31.62 2B,
2| HE BE | /5 | 30.95 | X2% | UI 2 | mE E=F | 4 | 33.25 28,
3| =% 48 | /5 | 31.45 28, | 3| M =W | /4 | 34.31 230N
4| fE@ &% | /N4 | 33.57 Ul 4| Rl BF | N4 | 34.42 Ul
5| /8L %= | /N5 | 33.94 ®T | 5| =# & | /5 | 35.00 Ul
6 | AH =% | /N5 | 34.42 Ul 6| {FE ZE | /4 | 35.28 28,
7 | @R = | /4 | 35.16 BT |7 B 54 N4 | 35.64 28,
8| Mm@ #mX | /N5 | 36.35 ®T |8 | mE & | 5 | 36.35 ®T
9| AR B2 | N4 | 37.57 Ul 9 A N4 | 38.19 Ul
10| WwF HE | /)4 | 38.53 =T |10 #2L OB | 4 | 38.28 ®T
11 & Wk N4 | 39.15 28, (11| %% =& | /\5 | 38.56 BT
12| AF &k | /5 | 39.66 PIXY [12| & &H | )4 | 38.84 ®T
ma -5 13| TH & INS | 41.27 Ul [13| =M@ ®#@ | /\5 | 39.14 BT
14| A@E Hm= | /N5 | 42.76 ®T |14 £15 @57 | )4 | 40.64 Ul
15| %K = | 14 | 42.92 28, 15| &M@ B | /J\5 | 40.98 BT
16| m mSf N4 | 43.02 ®T |[16]| ®WE —7f | J\4 | 45.94 Ul
17| & #% | /\5 | 44.03 ®|T (17| T&E B | /4 | 47.06 28,
18| %@ fik | /4 | 44.82 28, (18| ER BERE | /4 | 47.18 Ul
19| ™™g @& | /\5 | 45.41 UI |19 & &z | /4 | 50.38 2B,
20| M 55k | /N4 | 45.64 ®T |20 4Kk 8 | 4 | 52.79 28,
21| Xk BA | 1\4 | 47.64 =T
22 [ = | /\d | 50.68 28,
23| B =% N4 | 51.30 Ul
24| @M I N4 | 53.96 28,
25| =& =& | /5 | 1:10.71 28,
1| T Z= | 91 | 27.03 | A% | Ul 1 = =E | \6 | 29.08 | AaF | BIL
2| &£ —# | 1 | 2879 | A& | UI 2| ®mHE =& | /6 | 31.94 =T
3| &m 9k | 16 | 30.12 28 | 3 I B 1 | 34.56 28,
4| ZE St | 16 | 31.42 Ul 4| E4K B | 16 | 36.19 2B,
he.mi| 5| BiE K@ | N6 | 3156 28 | 5| %% 2= | /J\6 | 37.80 Ul
6 FE = N6 | 31.99 BT | 6| B/ BAE | /16 | 39.02 PIXY
7| HE AB | /16 | 33.48 I 7| =@ #&& | /16 | 39.93 PIXY
8| pa=p —* /N6 | 35.03 28,
9 Fo e N6 | 37.56 =T
10| @JIl 4 | 16 | 39.10 28,
1| »E &5 | &2 | 26.75 Z8W | 1| AN BE | =2 | 27.99 2B,
h2ME[ 2| FE A= | =2 | 28.01 28, | 2| &F = | 92 | 31.86 2B,
3| /VE KM | $2 | 29.25 Ul 3| IR EE | 2 | 32.29 28,




10 0m BH

X 2 B F 7 F
Bz K4 FHE | Y14, | HEH FRiB |MEfr K% F&HE | 1L | THEHE P B
1| =l oA /N6 | 1:03.66 Z&h | 1 | W+R /ISR | 1 | 1:01.36 B1
2| FE peR 1 |1:05.67 Zam | 2] A& Bk | )6 [1:04.61 g1
3| HE A# | /6 |1:14.18 Ul 3| Mt =& | #1 [1:06.81 Ul
4| F@E =& | /6 |1:32.13 zehm | 4| FE HLWF | #1 [1:08.51 % B8,
"6 -1 5| #HAk Bk f1 [1:10.19 % &I,
6 | BAk EHE 1 [1:15.88 Z e8I,
7| % K= | /6 |1:18.14 Z &,
8 | X¥ EZ | /\6 |1:25.42 Ul
9| Il —F | 6 |1:26.79 Ul
1 E %k H2 | 1:01.86 Z8m | 1| AN B& | =2 | 59.56 Z &
2| AN EE h2 [1:02.12 L8, | 2| A= M | 2 |1:03.99 BT
m2BlE |2 &=FE =A 3 [1:02.22 28R | 3| ®=E B | &1 |1:04.96 =T
3 xR B th2 [1:03.17 Z2EW | 4 FE & 2 [1:05.67 BT
4| =M #Ha | P2 |1:09.92 =T
2 0 O0m HHA
E 2 g F T ¥
B K 4 FE[ HS(L | Feiz | PilB |MEE K% FE]HA(L | FRR | RE
1| Z2H 2% | =1 |2:01.89 Bl 1| AlE 053 | &1 |2:14.28 ZE
monk |2 e NI 3 [2:06.43 28R | 2| ®=ME B®E | &1 |2:20.43 =T
3 PP =2 |2:07.75 BT (3] #%Ak B%x | 1 |2:21.58 Z e,
4| Bl Xi =1 |2:08.24 2 | 4| B ke | P23 |2:22.56 Ul
4 0 0m BEHRA
X 2 g F T ¥
B K 4 FE[ H(L | Feiz | PABE | K% FE]HA(L | HRR | ME
1| WHE &k | &1 |4:00.96] A=% | =L | 1 i 2 | 4:44.21 Z &,
2| B Xi B1 |4:18.40| A2 | Z&8H | 2 FiE & h2 |4:48.42 g1
m2BE | 3] =l EX th2 [ 4:30.38 28, | 3| Afd BEE | 13 |4:57.60 BT
4| A i 2 [4:31.19 Z eI,
5 WE 5% h2 |4:40.67 BT
2 5m BikE
X 5 5 ¥ T F
B K 4 FE[ H(L | ik | PilE | K 4 FE] H(L | HR | ME
1| A @Bt | /N1 | 24.75 1 (1] ME /2 | /1 | 31.59 PIXY
. 2 | @EE iy | %8 | 30.29 PIXY
MEF 3= Bx 1 3280 ZEH,
4| HF B | W2 | 45.47 PIXY
12 1| =)l sk | N2 | 23.75 | Aaw | =L
2| MW KE | 2 | 31.14 Ul
1 | @mH Be/B) | N3 | 25.65 | Aaw | =L | 1| B0 i@ | /3 | 23.38 | A=#r Ul
"3 2 K IN3 | 25.72 Ul 2 | FEE ER | 3 | 24.36 BT
3| th®E k&% | 3 | 28.71 5T
4 K B3 N3 33.27 ZE I
50m Sik&E
X 2 5 ¥ T 5
I3 K4 FE | HAML | FRE PRE |IEG K4 FHE | HAML | FRHE il
1| mEF ®A | /2 |1:02.75 Zam | 1| % == | /2 | 55.03 Z &,
N2 2| AEE OW3 | /2 | 55.95 % &I,
3| mF B® | /2 | 58.56 PIXY
3 1| [ &0 | 3 | 42.06 U1l 1| HH O&KD | /\3 | 45.48 U1l
1| ZM 5= | 5 | 34.46 | A=% | BL 1| il @#wF | N4 | 40.55 Ul
2| %8 BA | /5 | 39.84 Ul 2| BO BxE | 5 | 41.49 % &I,
3| IBH &— | /"4 | 41.02 Ul 3| @O @@= | 5 | 43.78 =T
4| BAR Bt | N5 | 4171 =T | 4| FE 9B | N5 | 45.09 7T
N4 -5|5| @A &8 | 1\4 | 43.08 Ul 5| &iE #EF | /N4 | 47.28 Ul
6| HA A | N4 | 43.24 =T |6 | MR ZF£E N4 | 49.80 PIXY
7| ®EB a% | /4 | 46.37 PIXY |7 | & ®% | /4 | 58.79 Ul
8| AH I | /\5 | 49.92 T
9 | FHHE € | /4 | 54.60 Ul
me.-mi| 1| FEF TEE | N6 [ 3680 | A= | ZEW | 1| fEEp OR | N6 | 32.97 | A= | &I
2| IEE AoZ | /6 | 41.82 PIXY
10 OmEXE
X 2 B F " 7
WE1i K & FE[ HS(L | Ficiz | PiB | K % FE] HA(L | Heiz | mm
e .-mi| 1| B L | w1 [1:35.65 1 | 1| BR3P ®= | /6 |1:11.95 Bl
2| I ik f1 [1:19.16 Z et
1| ARH &> | B3 |1:01.85 BT | 1 XE @ T2 1:07.22 Bl
2| A& ZEH | 2 [1:08.87 BT
h2BlE 3| ffE K= f2 [1:14.18 Z &I,
4| N =F th2 [1:21.45 Z et
20 O MEXE
X g F T ¥
Bz K4 FHE | ML | THEH FRE |MEfr K% F&HE | 1L | THEHE P B
2 E 1 KE 8 F2 |2:24.42| A= | BL




2 5m k=

X % B8 F T F
Bz K% FHE | ML | HEH FRiE |MEfr K% F&HE | Y14, | HEHE P B
M 1 D= oS B N1 32.77 Ul 1 i = /M 37.24 ZE
2| ME BE | /1 | 38.85 PIXY
N2 1 N N N2 32.21 | K& Ul 1 £ HR N2 35.84 | K& Ul
50m FEikE
X % 8 F g F
NEfiz K% FHE | ML | L FRI® |IEf K4 F&E | 1ML | L Ph &
N2 1] 8% ¥ | N2 | 54.42 T [1] Z#F %= | /2 [1:05.55 PIXY
1| e Bk /N3 | 52.97 Z8m | 1| AMA U5h | 3 | 59.94 Z Bl
2| wA BB | /3 |1:02.61 Z28m | 2| & B N3 [1:05.43 PIXY
N3 3 HE = /N3 | 1:04.94 Z 8
4 HH E /N3 1 1:05.71 ZEH
5 %% m# | /3 |1:05.89 PIXY
1| k& & | /\4 | 38.28 w1 | 1| Jsm &% | /14 | 43.37 Z &I
2 =& A= /N5 38.50 BT 2 Rk XA NG 45.40 B
3| &®E &R | /5 | 40.34 28 | 3| & =# | /N5 | 49.24 =T
4 1k 1835k N4 43.67 Ul 4 A BE N4 50.25 Ul
5| /M #FA | /5 | 45.36 &, | 5| mHE Z4E£ /N4 | 50.78 PIXY
6 1R IS IN5 45.93 28 | 6 ME —1E N4 53.75 Ul
ma.s | 7| WBE EH— | 14 [ 4752 Ul 7| =B BK | /4 | 55.30 PIXY
8| M BA | /4 | 50.78 #T | 8| ANHE Bx | /4 |1:00.16 PIXY
9 tEH  thdk N5 54.81 BT 9 A BE /N4 | 1:00.69 Ul
10| AF S8k | /\5 | 55.15 PIXY
11| B 2% N4 | 56.89 Ul
12| 1B #iK N4 59.98 Z &
13| FE = N4 [1:00.28 =T
14| BN RE /N4 11:01.70 Z &
1| ¥ 1 | 33.69 | A=9r Ul
2 T =M /N6 | 35.07 AF | ZEH
3| &E HK 1 | 36.75 | AS¥ Ul
W6 -1l 4| tF B= | 1 | 39.11 T
5 FE & N6 | 41.21 =T
6 ZT B N6 | 45.14 BT
7 JEM 8= N6 45.71 ZE
10 0m k=
X 2 g F T ¥
NE4sz K% FHE | 1ML | THEH FRIB |IEfL K4 F & | 1L | THEEHE PR &
1 T =M N6 |1:12.96| K= | ZEW | 1 s {ZF N6 | 1:39.09 Ul
2| BH —H thl |1:17.97| X2 Ul
3| & HK i | 1:18.11| A2% Ul
M6 -1 4 xR B 1 [ 1:19.79| A&F | ZEH
5| h#F B&E | 1 |1:20.50 T
6 EF 12 N6 | 1:24.11 ZEH
7 ® X 1 |1:26.57 Z e,
1| AN BA | m2 |1:06.31] A=9 U1 1 s =1 | 1:23.22 Z &
2 E 2 fiE K% =1 [1:08.20| K=% | ZEE | 2 AR OB F2 |1:32.82 BT
3| 22% MF | &2 |1:10.70 I
4 ¥ EE =2 [1:11.40 ZE I
2 0 O0m Pk
X 2 B ¥ T 7
I3 K4 FE | HAML | FRE PR |MEG K4 FHE | HAML | FREF il
. 1 A& BEA =2 |2:25.68| XK= Ul 1 EER & =1 |2:58.44 LB
2| EERE MY¥ | 52 |2:32.58| X=H Ul




25mII\F9J54

X % B8 F T F
JEf K4 FHE HAL | FHEREHE FRiE |MEfr K% F&H | HAL | R &
1 BE £% /N | 26,52 | K=HT | ZER |1 A Zi N1 | 27.10 BT
M 2 & IBE N1 | 28.27 PIXY
3| &8 WA | /1 | 29.43 Ul
N2 1] AR HA M2 12270 [ x& | BT 1] B F&K | /2 [23.70 | X&H | BI
3 1| 50O 4 | /N3 | 23.98 | A= Ul
2 | MIE EHEXE | 3 | 25.27 BT
50m/)\92J54
E 2 g F T ¥
Bz K & FE| H(L | FHEFE | FAE |mEm K & FE| H(L | FRFE | B
2 1| &EEH L2 N2 41.15 | K& PIXY 1| Al WwWalE | 2 56.43 ZE
2| #®E WAE | 2 | 47.16 'T |2
1| mE =0 | /3 | 38.94 Ul 1] #H O&D | I3 | 42.35 Ul
In3 2| #HA =S | N3 | 47.43 Ul 2 | BA #BX=Z | )13 | 46.69 7T
3 1R ERE N3 52.41 Z &
1 2H R N5 31.90 | K&=% BT 1 e FiRE N5 34.31 BT
2 | BAR 2R N5 | 34.82 ZER | 2| %\, 2HF | )\5 | 34.63 BT
3 | /JMEIL #%= | /5 | 36.50 BT | 3| hE mE N5 | 36.08 % B,
4| AmE BEAN | /5 | 36.78 BT |4 B3E ¥ N4 | 36.56 BT
5| &R Bt | 5 | 37.21 BT |5| FE BE M4 | 39.99 % 81,
ma.s | 6| AME BA | A5 | 37.27 ZEE | 6| P BB | N1\4 | 41.37 £
7 PalEp &R N4 38.88 ZEE | 7 | BER i N | 43.11 BT
8| #MmE #mX | /N5 | 42.79 BT | 8| @M MBx | /\5 | 45.59 BT
9 T X N4 49.87 ZEH | 9 FE KB /N5 58.72 ZE
10 R R /N4 | 5544 BI
11| #k & | /4 [1:00.37 BT BT
12| AH @xF | /4 [1:02.02 Ul
1| &#H %t | 1\6 | 34.34 Ul 1| *&= == | \6 | 31.57 BT
me -1l 2| HE k&4 /N6 | 34.59 Ze | 2| ME &4 | /6 | 34.84 BT
3| Il X /N6 | 39.89 PIXY
100mII\FIJ5A
X 2 g F T ¥
NE4sz K% FE HAL | FEH FRiB |IEfL K% F&E | HAL | FEEHF PR &
N6 -1 1] A2 %zz /N6 |1:09.95 %\}I‘
2 | MA EE /N6 |1:18.53 % 51,
1| It % | =2 |1:00.00 2 1 HE = 2 [1:07.27 Z B,
2| WE KB =1 [1:00.41 Z8 | 2 | A F4&F | £3 [1:10.37 BT
3| =#s =i | 2 |1:03.61 BT |3| AE FF03 | Bl [1:12.13 Z B8,
moank | 4 £ ¥ 2 [1:03.83 Ze8 | 4| =2 ©FE =1 [1:12.81 BT
5 AR MK =2 [1:04.71 ZEW | 5 [z NI = F2 |1:21.27 BT
6 =fE EX #2 [1:05.33 ZE
7 FiE KE =2 [1:06.10 ZEI
8 = BiA=] F2 |1:14.95 BT
200m/)\9J54
E & B ¥ T 7
T K & FE | ML | e | w6 K & FE | 51 | e | i m
1] e FT | §2 2:11.40 BT |1 & ©% | =1 |2:31.61 3
m2E [ 2 LE 5% 2 [2:32.69 BT | 2| A F4F | B3 [2:32.29 BT
3| E &Y th2 | 2:49.53 Ul




100m BAXRKRL—

X g F T ¥
Bz K% FHE | ML | HEH FRIB |MEfr K% F&E | Y14, | HEH P B
1| =i &% | /1 | 1:.44.15] k=% | PIXY | 1| =H =& | @& |2:10.88 L
IS} 2| =58 ¥WA | 1 [2:14.42 Ul
3] & ®BE | 1 [2:21.96 PIXY
1 e IR N2 | 1:41.74 Z&8W | 1| @l LBl | 2 |2:01.90 Z &,
2| SNl &%E | N2 [1:49.66 %= 2 B X N2 [2:07.18 Ul
m2 [ 3] BE A | /2 [1:56.67 ®T | 3| T &K | /N2 [2:09.17 g1
4| =F Bk | 2 [2:12.95 Ul
5 & BmE N2 [2:31.82 Ul
1| e @R | /'3 | 1:39.67 Z&8R | 1| )\&5 & | 3 | 1:38.39 Z Bl
"3 2| B ®Bs | /3 | 1:42.08 ZEW, | 2 | As&x Mic | /3 | 1:59.04 PIXY
3| =®& &AM | /3 |1:59.88 ZEW, | 3 | THEE T | /3 |2:04.10 BT
4| 1/ #HE | /3 [2:03.19 Z &1,
1| =8 mE | 15 |1:12.92] A=F | ®mL | 1| &= Pk | 14 |1.16.55] A=% | 2B
2| &HK A | N4 [1:33.34 BT | 2| =% s | )5 |1:18.57| A% | B&EL
3 7o N5 |1:36.54 Ul 3| mE® A=A | g | 1:23.21 Z et
4 | [Es Ak | /N5 | 1:41.37 =T |4 & 5% | /5 [1:33.30 g1
5| #HhA =ES | 4 [1:41.52 28 | 5| AL OB | /4 |1:35.10 =T
6 | FIF A | /5 |1:42.47 =T |6 | #O #wM=Z | /\5 [1:35.85 g1
7| B BK | /4 |1:44.01 #T |7 | @R &BE | /5 [1:37.69 Z e,
Mma.s5 | 8| IEE X | N4 [1:51.38 #®T |8 | =H BF | /\5 |[1:41.65 g1
9 | AFME 4 | /4 |1:51.01 Ul 9| EH ZF%E | /4 |[1:43.43 PIXY
10| ™ s N4 1:52.31 =T |10 BIR ZFE | /4 | 1:46.07 PIXY
11| 77 @% | /5 |1:52.69 UI [11] BR BZ%& | \4 |1:50.15 Ul
12| BF mEF | 4 | 1:54.97 UI |[12] 2& # K | /\4 |1:53.15 PIXY
13| [Z = | /\4 | 2:08.41 Zem (13| F=E X8 | /4 | 1:55.07 % &I,
14| @\, 3% | /\4 |1:58.47 Z &,
15| WH Bx | /4 |1:59.28 PIXY
16| =& M | /\5 [2:02.22 Z &,
6. 1| 1 P N6 |1:31.94| K23 | =L | 1 | B EkE | 06 | 1:15.12] A% | 28K
2| FE =% | /N6 |1:34.11 Z&W | 2| FE B3 | /16 |1:45.16 Z &,
200m BAXRL—
X 2 g F T ¥
B K 4 FE | H(L | Fctk | B |MEMm K% FE| H(L | ek | B
1| KRR BABE | /M3 |3:05.57 ZEH
Ih3 2 | BH #B%XZ | N3 |3:33.13 =T
3| & EB | /3 [4:04.23 PIXY
1 B & NS |2:30.67| A&% | =L | 1| %@, 3F | /N5 |2:37.81] A=%r | EL
2| hE B | M4 |2:36.69 BT | 2| k% #@=Z | /5 |2:48.90 Z &I,
3| HHE HRE | N5 |2:42.75 Ul 3| #EH EW | /4 |2:51.51 =T
4 s % N 1553 /N5 ]2:43.01 ZEH | 4 EH &R N4 | 2:51.64 ZEH
5 | A#H &K | /5 | 2:52.51 ZEW, | 5| HEBE %& | 4 |2:52.89 =T
6 R 155 /N5 | 2:55.42 ZEH | 6 w=H AAs N5 | 3:04.75 Ul
7 | BM BEX | /N5 |2:55.76 &T |7| @O 2% | /5 |3:11.78 Z &,
8| %& BA | /5 |3:01.61 Ul 8| mE =4 N4 [3:17.48 Z &I,
N4 -5[9 | /MY FAk | /5 |3:04.69 ZEW, | 9 | m&Em 2 | N4 | 3:21.59 PIXY
10| W B@E | /4 |3:09.46 =T |[10] @B HE | /5 | 3:32.09 Z &I,
11| f&HE A& | 14 | 3:10.88 Ul
12| @ ME | 4 | 3:13.23 T
13| Al =231 | I\4 | 3:16.79 Ul
14| RFF &% | 5 |3:20.25 Ul
15| ®mE @k | /4 |3:27.47 PIXY
16| [Ep @A | /\5 | 3:33.21 T
17| F8F XA | /\5 |3:35.18 =T
1 7k KR 1 [2:18.52| R&=H | Z&EW [ 1| FE HLF 1 | 2:44.24 ZEH
2| FE mR i |2:35.77 Z&EW, | 2 | WHE 2E | /16 |2:45.31 Z &,
3 el &) N6 |2:48.70 ZEH | 3 It TEls 1 | 2:46.70 ZEI
a4 I =B N6 | 3:12.77 BT |4 Bk EiE 1 [2:51.02 Z &,
M6 -®1| 5| EHE ¥t | 1 |3:16.85 w1 | 5| {4k B | /16 |3:01.81 Z &I,
6 RN BE /N6 |3:05.21 Z et
7| 8% K= | /6 |3:07.87 Z &I,
8| EiR BAE | /6 |3:25.19 PIXY
9 1R B N6 | 3:40.80 ZE I
1| LH &A | &1 |2:08.68] A=%r | =L 1| fE &)y | B3 | 2:41.48 U1l
. 2| =@ =B | P2 |2:16.56 =T
P2RE S em B | @3 2:17.40 BT
4| EE EA th3 |2:25.98 Z &I,
400m BIAXRKRL—
E 2 g F T ¥
[T K4 FE | HAML | FRE PR |IEf K4 FHE | HAML | FRH il
1| %@ A 1 |4:46.63| A23 | Z&W | 1| WA /JNE | 1 |5:12.94] A=% | &L
NG -1 2 | mE OBKE | /)6 |5:26.93] AR | 2B
3| &t =& | $1 [5:53.40 Ul
1| 2@ 2% | =1 44391 Aa% | &L
2 F | 2 PP S2 |4:48.34| A2 | =T
3| AN BE 2 [5:17.63 2,




